VІІ NaTIOINAL FALL TOURNAMENT “John Atanasov”
Shumen, 24.11.2007

Task C1. TABLE  
Each of the cells of rectangular table with M rows and N columns contains a positive integer, less than 100. Three cells of the table are called neighbors if each of them has a common side with at least one of the others two cells. 
Write program maxi to find the maximum sum of the numbers in some three cells of the table that are neighbors.
Input
The first row of the standard input will contain the numbers M and N (1< M, N <10). Each of the next M rows of the standard input will contain the N numbers of the current row of the table.
Output
On the single row of the standard output the program has to print the found maximum sum.
EXAMPLE
Input






2 2
1 3

2 4







Output
9
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Task C2. PUZZLE
A numerical puzzle is composed of letters and signs for arithmetic operations. Such puzzle, for example is the following:

AB+B=BA

In numerical puzzles, different letters denote different decimal digits, and equal letters – equal digits. Solution of the puzzle is an assignment of decimal digits to the letters in such way that a valid equality is obtained. For the example above one possible solution is 89+9=98. 

Write program rebus to solve given numeric puzzle.

Input
From the single row of the standard input the program has to read string composed of the capital Latin letters ’А’, ’B’, ’C’,  and characters ’+’and ’=’, which is a numerical puzzle. Each substring of the puzzle composed of letters (representing a number) is of length no more than 9 characters. The string contains only one character ’+’ and one character ’=’. The character ’=’ is after he character ’+’. 
Output
On a single row of the standard output the program has to print one solution of the puzzle. It is sure that at least one solution of the puzzle exists such that all numbers of the solution are without leading zeros. If more than one solution exist the program has to print any one of them. 
EXAMPLE
Input






AB+B=BA 

Output
89+9=98
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Task C3. NAMES
Eleanor is shocked by the TV serials that her grand mother is watching. For 30 minutes, the duration of a single part of the serial, hundred of characters are mentioned. Brook, which is waiting a baby from Rich (he still does not know this), is meeting confidentially with Erik, but Stephany understands this and says to Sally and Taylor... Sometime the names of characters are so much that Eleanor could not understand who the main character is. But she has a golden rule to resolve the problem – in TV serials the name of the main character is mentioned more frequently then all other characters together. Unfortunately, Eleanor is not able to memorize hundred thousands of mentioned names (yes, see the limitations below). That is why she decided to put mentioned names on a paper and hen to check who the main character is.
You would like to help Eleanor (she is a nice girl) to find the famous main character. You are taking the paper (oh, really very big heap of papers) with the registered N names (1 ≤ N ≤ 1 000 000), each of them no longer than 20 letters, and ... No, it will be impossible to do the work without computer. Something more, your computer is with only 1 MB memory. Do not give up! Write a program names to find the searched name.

Input  

On the first row of the standard input the number N of collected by Eleanor names is given. Each of the next N rows contains one of the names (of length between 1 and 20 letters), composed of small and capital Latin letters. It is sure that there is a name included in the list more times than all other names of the list. 
Output 

On the single row of the standard output the program has to print the name of the main character of the TV serial.
EXAMPLE
Input
11

Rich

Rich

Bruck

Rich

Eric

Stephanie

Rich

Rich

Sally

Tailor

Rich
Output
Rich
